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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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10:15 273 150.0 2.583 =l RRiB010:15 Bzh (REAEEE)
11:05 273 150. 0 2.583 5 {Ri%e11:05 Bz (RAERSE)
12:00 273 150.0 2.583 =l {Rige12:00 B3 (RAERSE)
12:35 273 150.0 2.583 S| {Rige12:35 B (REAERSE)
13:10 273 150.0 2.583 (£=| {Ri%e13:10 Bz (RAEZSE)
13:45 273 150.0 2.583 (Z=| 1Ri&@13:45 Bz (RAEHRSE)
14:30 273 150.0 2.583 (Z=| 1Ri%e14:30 B3 (REAERSE)
15:20 273 150. 0 2.583 |Z=| BRige15:20 Bz (RAERESE)
16:20 273 150.0 2.583 (Z=| 1Ri%e16:20 Bz (FAMEHSE)
24t 3276.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

R GERRETC (600) 57EA (273. 0) 1%, AR T % AREERS 2 X ER
2RI\ L PRIERE330. 0 ml.
#HEHECE (1907. 0 vs 3900.0) i35



FRV (ml plant-1)

P3-3_0, Day=65 (2025-06-02)

150 = ——— ]
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- 1000 —
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196 Warning: lcol [FVI',| "FVO’'] missing 0 500
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400 FRV

200 A - 20

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=520, FV0=0 m=535, FV0=0 m=660, FV0=0
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14. 9 - 14.5 1
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18 -
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21. 25 A 29 0 4 19. 8 20. 0 A
21.00 1 19. 6 - 19. 8 -
i 21.5 -
20.75 19.4 - 19.6 -
520 525 530 555 560 565 660 665 670 720 725 730



m=780, FV0=0
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P3-3

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS ERE

08:40 273 150. 0 2.583 Z| 1Rig008:40 Bzh (REERESE)
09:40 273 150. 0 2.583 (Z=| {Ri%@09:40 Bz (FRAMERSE)
10:40 273 150.0 2.583 |Z=| 1BRi&010:40 Bzh (GRAEEE)
11:40 273 150.0 2.583 FA| {Ri%@11:40 Bz CGRAERE)
12:50 273 150. 0 2.583 FA| {Ri%@12:50 Bz (GRAERESE)
14:30 273 150. 0 2.583 PH| {RiZe14:30 Bz (KRAEFERSE)
Bit]1638.0 (6%) 900.0 32 KEC: 2080.0, PH: 6.0

##[EKECE (2007.0 vs 4270.0) 35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=64 (2025-06-01)
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Warning: lcol [FVI',| "FVO’'] missing
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190 e e e e e e e L 25
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o0 1 1 | |
10 | 1 |
n
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0.6 -
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0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
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0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 t
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
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NG L BH | XM |)Wm| &£ z z N EZNEXS N FH BH [A FH FH BH [A FH EHERREEREERS
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FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)
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15. 25

15. 00 -

14.75 A
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——

M_E
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m=870,n FV0=0
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——
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——
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——
15.2 4
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14.6 -
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m=605, FV0=0
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61I 0
m=520,n FV0=0
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210 -
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P3-3

BYiE) | GEBIATIK () | EHME (EH/&) | EBRERE (/X)) | KR R

06:20 278 150.0 2.583 FA| 1B2i%@06:20 B3h (kA{EREE)
07:20 278 150.0 2.583 FA| 1B2i%@07:20 Bzh (kAB{EREEE)
08:20 278 150.0 2.583 FA| 1BRi%@08:20 B3zh (KAB{ERSE)
09:20 278 150.0 2.583 FA| {Ri%@09:20 Bz (RAMEEEE)
10:20 278 150. 0 2.583 FA| 1B2i%@10:20 B3h (RA{EREE)
11:20 278 150.0 2.583 FE| 1Ri&@11:20 B3 (RS
12:50 278 150. 0 2.583 PH| 1{RiZe12:50 Bz (KRAEFERSE)
14:50 278 150. 0 2.583 |/hfu| {Ri&e14:50 Bz (REEBE)
2it]2224.0 (8%) 1200. 0 328053 %EC: 2080.0, PH: 6.0

#H[EKRECE (2087.0 vs 4547.0) 35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1

1

P3-3_0, Day=63 (2025-05-31)

R Y e i e
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Warning: lcol ['FVI’,
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Warning: lcol ['WC1’,

"WC2' ] missing
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optEC0=2600. 0,

setECB=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5,

setPHB=6. 0

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=465, FV0=0 m=500, FV0=0 m=540, FV0=0

ol we 1464 o uE 5.4 o W 15.7 - —
14.5 -
15.2 - 15.6 -
15.5 7 14.4
15 0 4 14.3 - 15.0 - 15.5 -
14.2 -
14.5 - 14.8 - 15. 4 -
14.1 -
14.01 14.0 - 14.6 15.3
T T T T T T T T T T T T T T T
500 600 700 800 900 1000 465 470 475 500 505 510 540 545 550
m=585,m FV0=0 m=635,m FV0=0 m=695,m FV0=0 m=825,m FV0=0
15801 o g 15.801 o 4 1597 o uE 16.0 -
15. 75
15.75 15.8 - 15.9 -
15.70
15. 65 15.70 15.7 - 15.8 -
15. 60
15. 65 15. 6 - 15.7 -
15. 55
15.50 15. 60 15.5 - 15.6 - - ME
T T T T T T T T T T T T
585 590 595 635 640 645 695 700 705 825 830 835
m=945,m FV0=0 m m=465,m FV0=0 m=500,m FV0=0
16. 00 —— MW —— MW
26 - i
15. 95 922.5 24.5
15. 90 251 24.0 -
i 24 22.0 1
15. 85 23.5 -
15. 80 - 23 1
2159 23.0 1
15. 75 - 22 -
15. 70 - & ME 21 - = MW 504 22.54
945 950 955 500 600 700 800 900 1000 465 470 475 500 505 510
m=540,m FV0=0 m=585,m FV0=0 m=635,m FV0=0 m=695,m FV0=0
26.0 - —— o— wuw | 2657 o— wu | 265 ~——
i 26.0 -
25.5 26.0 26.0
25.0 - 25.5 -
95.5 - 25.5 -
24.5 - 95 0 4
95.0 - 25.0 -
540 545 550 585 590 595 635 640 645 695 700 705



m=825, FV0=0

26. 5 - MW
26.0
25.5
25.0
T T T
825 830 835

m=945, FV0=0

26. 50 A

26. 25

26. 00

25.75 A

25.50

25. 25 A

—0—

M_w

945

T
950

955




